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СD║T║EF║AX
T=2t
t┴AZ
T=4kH

G=3kH

a=c=0.15m

b=0.2m

R=0.15m

r=0.1m

 

XA,YA,ZA-?
XB,YB-?

T1-?,D-?
1) ΣFKX=XA+XB+T-T1+t*Cos30O=0

2) ΣFKY=YA+YB-t*Sin30O=0

3) ΣFKZ=ZA-G=0

4) ΣMX(FK)=YB(a+b)-t*Sin30O*a=0

5) ΣMY(FK)= -t*Cos30O*a-XB(a+b)-T*a+T1(a+b+c)=0

6) ΣMZ(FK)=t*r-T*r+T1*R=0

(6)=>T1=D=(T*r-t*r)/R=(4*0.1-2*0.1)/0.15=1.3kH

(5)=>XB=(t*Cos30O*a-T*a+T1(a+b+c))/a+b=(-2*0.866*0.15- 

-4*0.15+1.3(15*2+20)*0.01)/0.35= -0.2098kH 

(4)=>YB=(t*Sin30O*a)/a+b=(2*1/2*0.15)/0.15+0.2=0.43kH 

(3)=>ZA=G=3kH 
(2)=>YA=t*Sin30O-YB=2*1/2-0.43=0.57kH 

(1)=>XA=T1-t*Cos30O-T-XB=1.3-2*0.866- 4+0.2098= - 4.22kH  

Проверка:

	Σ MX1Σ MX1(FK)=0

-YA*a+YB*6=0

-0.57*0.15+0.43*0.2=0

-0.0855+0.086=0
	Σ MY1(FK)=0

XA*a-XB*b+T1(b+c)=0

-0.633+0.04196+0.585=0

-0.633+0.6269=0


Ответ:
	XA= - 4.22kH
	YB= -0.2098
	T1=1.3

	YA=0.57kH
	YB=0.43
	P=1.3

	ZA=3kH
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